Canad. Math. Bull. Vol. 52 (2), 2009 pp. 267-272

Extensions of Rings Having McCoy Condition

Muhammet Tamer Koşan

Abstract. Let R be an associative ring with unity. Then R is said to be a right McCoy ring when the equation f(x)g(x) = 0 (over R[x]), where $0 \neq f(x), g(x) \in R[x]$, implies that there exists a nonzero element $c \in R$ such that f(x)c = 0. In this paper, we characterize some basic ring extensions of right McCoy rings and we prove that if R is a right McCoy ring, then $R[x]/(x^n)$ is a right McCoy ring for any positive integer $n \geq 2$.

1 Introduction

In [9, Theorem 2], McCoy proved that if R is a commutative ring then, whenever g(x) is a zero divisor in R[x], there exists a nonzero element $c \in R$ such that cg(x) = 0. Let S[x] and R[x] be the polynomial rings over rings S and R, respectively. Given a module M, let M[x] be the set of all formal polynomials in indeterminate x with coefficients from M. Then M[x] becomes an (S[x], R[x])-bimodule under usual addition and multiplication of polynomials. Assume that M is an R-module such that ma = 0 implies mRa = 0, for any $m \in M$ and $a \in R$. In [2, Corollary 2.8] it is proved that if m'(x) is a torsion element in M[x], then there exists a non zero element $c \in R$ such that m'(x)c = 0.

According to Nielsen [10], a ring *R* is said to be a *right McCoy ring* when the equation f(x)g(x) = 0 (over R[x]), where $f(x), g(x) \in R[x]/\{0\}$, implies that there exists a nonzero element $c \in R$ such that f(x)c = 0. The definition of a left McCoy ring is similar. If *R* is both a left and a right McCoy ring, then *R* is called a *McCoy ring*.

Recall that a ring *R* is called a *reduced ring* if it has no nonzero nilpotent elements. It is well known that if *R* is a reduced ring, then the following condition holds: ab = 0 implies ba = 0, for all $a, b \in R$. Cohn [3] called a ring *R* a *reversible ring* if it satisfies this condition. Clearly, reduced and commutative rings are reversible. By [10, Theorem 2], every reversible ring is a McCoy ring.

Another generalization of a reduced ring is an Armendariz ring. A ring *R* is said to be an *Armendariz ring* if, whenever polynomials $f(x) = a_0 + a_1x + \cdots + a_mx^m$, $g(x) = b_0 + b_1x + \cdots + b_nx^n \in R[x]$ satisfy f(x)g(x) = 0, then $a_ib_j = 0$ for each *i*, *j*. It is easy to see that all Armendariz rings are McCoy rings.

Recall that a ring *R* is called *semicommutative* if ab = 0 implies aRb = 0, for $a, b \in R$. Clearly, all reversible rings are semicommutative. In [4, Corollary 2.3], Hirano proved that if *R* is a semicommutative ring, then whenever f(x) is a zero divisor

Received by the editors September 18, 2006; revised April 4, 2007.

AMS subject classification: Primary: 16D10; secondary: 16D80, 16R50.

Keywords: right McCoy ring, Armendariz ring, reduced ring, reversible ring, semicommutative ring. ©Canadian Mathematical Society 2009.

in R[x] there exists a nonzero element $c \in R$ such that f(x)c = 0. In this study, Hirano assumed that if R is a semicommutative ring then R[x] is also a semicommutative ring. But, in [5, Example 3], the authors show that this assumption is false. Therefore, the question of whether semicommutativity implied the McCoy condition was left open.

In this note, we will discuss some basic ring extensions of right McCoy rings. The following will be proved:

Theorem 1.1 Let R be a ring. Then R is a right McCoy ring if and only if R[x] is a right McCoy ring.

Given a ring *R* and a bimodule $_RM_R$, the trivial extension of *R* by *M* is the ring $T(R, M) = R \oplus M$ with the usual addition and multiplication

$$(r_1, m_1)(r_2, m_2) = (r_1r_2, r_1m_2 + m_1r_2).$$

This is the subring $\left\{ \begin{pmatrix} a & m \\ 0 & a \end{pmatrix} : a \in R, m \in M \right\}$ of the formal triangular ring $\begin{pmatrix} R & M \\ 0 & R \end{pmatrix}$. We also show the following.

Theorem 1.2 Let R be a ring.

- (1) The trivial extension *T*(*R*, *R*) is a right McCoy ring if and only if *R* is a right McCoy ring.
- (2) *R* is right McCoy ring if and only if the classical right quotient ring Q(*R*) of *R* is right McCoy ring.

Throughout this paper, we assume that *R* is an associative ring with unity.

2 Extensions of Right McCoy Rings

We start the trivial extension of a right McCoy ring.

Theorem 2.1 Let R be a ring. Then R is a right McCoy ring if and only if the trivial extension T(R, R) is a right McCoy ring.

Proof Assume that the trivial extension T(R, R) is a right McCoy ring. Let

$$0 \neq f(x) = \sum_{i=0}^{m} a_i x^i$$
 and $0 \neq g(x) = \sum_{j=0}^{n} b_j x^j$

be two elements in R[x] with f(x)g(x) = 0. So we may construct the following two elements in T(R, R) such that $F(x) = \sum_{i=0}^{m} A_i x^i$ and $G(x) = \sum_{j=0}^{n} B_j x^j$, where $A_i = \begin{pmatrix} a_i & 0 \\ 0 & a_i \end{pmatrix}$ and $B_j = \begin{pmatrix} b_j & 0 \\ 0 & b_j \end{pmatrix}$. Since $0 \neq f(x)$ and $0 \neq g(x)$, we have $F(x) \neq 0$ and $G(x) \neq 0$. Note that F(x)G(x) = 0 in T(R, R)[x], because f(x)g(x) = 0 in R[x]. Then there exists a nonzero element $\begin{pmatrix} a & b \\ 0 & a \end{pmatrix}$ in T(R, R) such that $F(x)\begin{pmatrix} a & b \\ 0 & a \end{pmatrix} = 0$. Since the element $\begin{pmatrix} a & b \\ 0 & a \end{pmatrix}$ is nonzero, we have $a \neq 0$ or $b \neq 0$. Then $\begin{pmatrix} a_i a & a_i \\ 0 & a_i a \end{pmatrix} = 0$ for $0 \leq i \leq m$. This implies that $a_i a = 0$ and $a_i b = 0$, for $0 \leq i \leq m$. Hence we have f(x)a = 0 and f(x)b = 0. Therefore, the ring R is a right McCoy ring.

Extensions of Rings Having McCoy Condition

Assume that *R* is a right McCoy ring. Let R' = T(R, R). Let

$$0 \neq F[x] = \begin{pmatrix} a_0 & b_0 \\ 0 & a_0 \end{pmatrix} + \begin{pmatrix} a_1 & b_1 \\ 0 & a_1 \end{pmatrix} x + \dots + \begin{pmatrix} a_m & b_m \\ 0 & a_m \end{pmatrix} x^n$$

and

$$0 \neq G[x] = \begin{pmatrix} a'_0 & b'_0 \\ 0 & a'_0 \end{pmatrix} + \begin{pmatrix} a'_1 & b'_1 \\ 0 & a'_1 \end{pmatrix} x + \dots + \begin{pmatrix} a'_n & b'_n \\ 0 & a'_n \end{pmatrix} x^n$$

be two elements in R'[x] such that F[x]G[x] = 0. Let

$$f_1(x) = a_0 + a_1 x + \dots + a_m x^m, \quad f_2(x) = b_0 + b_1 x + \dots + b_m x^m$$

and

$$g_1(x) = a'_0 + a'_1 x + \dots + a'_n x^n, \quad g_2(x) = b'_0 + b'_1 x + \dots + b_n x^n.$$

Then $f_1(x)$, $f_2(x)$, $g_1(x)$, $g_2(x) \in R[x]$, and it follows that

$$0 = \begin{pmatrix} f_1(x) & f_2(x) \\ 0 & f_1(x) \end{pmatrix} \begin{pmatrix} g_1(x) & g_2(x) \\ 0 & g_1(x) \end{pmatrix}$$
$$= \begin{pmatrix} f_1(x)g_1(x) & f_1(x)g_2(x) + f_2(x)g_1(x) \\ 0 & f_1(x)g_1(x) \end{pmatrix}$$

since F[x]G[x] = 0. Thus we have $f_1(x)g_1(x) = 0$ and $f_1(x)g_2(x) + f_2(x)g_1(x) = 0$. Next we break the proof into nine cases.

Case 1 Let $f_1(x) \neq 0$, $f_2(x) \neq 0$, $g_1(x) \neq 0$, and $g_2(x) \neq 0$. So there exists a nonzero element *c* in *R* such that $f_1(x)c = 0$ since $f_1(x)g_1(x) = 0$ and *R* is right Mc-Coy ring. Hence there exists a nonzero element $\begin{pmatrix} 0 & c \\ 0 & o \end{pmatrix}$ in *R'* such that $F(x)\begin{pmatrix} 0 & c \\ 0 & 0 \end{pmatrix} = 0$. Therefore, the ring *R'* is a right McCoy ring.

Case 2 Let $f_1(x) \neq 0$, $f_2(x) \neq 0$, $g_1(x) \neq 0$, and $g_2(x) = 0$. Then we may again choose $0 \neq \begin{pmatrix} 0 & c \\ 0 & 0 \end{pmatrix} \in R'$.

Case 3 Let $f_1(x) \neq 0, f_2(x) \neq 0, g_1(x) = 0$, and $g_2(x) \neq 0$. Then we have $f_1(x)g_2(x) = 0$. Since *R* is a right McCoy ring, then there exists a nonzero element *c* in *R* such that $f_1(x)c = 0$. Hence there exists a nonzero element $\begin{pmatrix} 0 & c \\ 0 & 0 \end{pmatrix}$ in *R'* such that $F(x)\begin{pmatrix} 0 & c \\ 0 & 0 \end{pmatrix} = 0$. Therefore, the ring *R'* is a right McCoy ring.

Case 4 Let $f_1(x) \neq 0$, $f_2(x) = 0$, $g_1(x) \neq 0$, and $g_2(x) \neq 0$. Then we have $f_1(x)g_1(x) = 0$. So there exists a nonzero element c in R such that $f_1(x)c = 0$. Hence there exists a $0 \neq \begin{pmatrix} c & 0 \\ 0 & c \end{pmatrix} \in R'$ such that $F(x)\begin{pmatrix} c & 0 \\ 0 & c \end{pmatrix} = 0$. Therefore, the ring R' is a right McCoy ring.

Case 5 Let $f_1(x) \neq 0$, $f_2(x) = 0$, $g_1(x) \neq 0$, and $g_2(x) = 0$. Then we have $f_1(x)g_1(x) = 0$. So there exists a nonzero element c in R such that $f_1(x)c = 0$. Hence there exists a $0 \neq \begin{pmatrix} c & 0 \\ 0 & c \end{pmatrix} \in R'$ such that $F(x)\begin{pmatrix} c & 0 \\ 0 & c \end{pmatrix} = 0$. Therefore, the ring R' is a right McCoy ring.

Case 6 Let $f_1(x) = 0$, $f_2(x) \neq 0$, $g_1(x) = 0$, and $g_2(x) \neq 0$. So we may choose the element $0 \neq \begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix} \in R'$.

The other possibilities are similar to cases (1)-(5).

The following example shows that T(R, R) is not an Armendariz ring, even if R is a right McCoy ring.

Example 2.2 Let *T* be a reduced ring. Then $R = \{\begin{pmatrix} a & b \\ 0 & a \end{pmatrix} : a, b \in T\}$ is an Armendariz ring by [6, Corollary 4]. Therefore, *R* is a right McCoy ring. By Theorem 2.1, the trivial extension $R' = \{\begin{pmatrix} A & B \\ 0 & A \end{pmatrix} : A, B \in R\}$ of *R* is a right McCoy ring. But *R'* is not an Armendariz ring by [6, Example 5].

The following example shows that T(R, R) is not a reversible ring, even if R is a right McCoy ring.

Example 2.3 Let *T* be a reduced ring. By [10, Theorem 2], *T* is a right McCoy ring. We consider the ring

$$R = \left\{ \begin{pmatrix} a & b & c \\ 0 & a & d \\ 0 & 0 & a \end{pmatrix} : a, b, c, d \in T \right\}.$$

By Theorem 2.1, the ring *R* is a right McCoy ring, but *R* is not a reversible ring by [7, Example 1.5].

Example 2.4 Let *R* be a right McCoy ring. The 6×6 upper triangular matrix ring \mathbb{T}_6 of *R* is not a right McCoy ring. Let

Clearly, f(x)g(x) = 0, but there is no nonzero element *c* in \mathbb{T}_6 such that f(x)c = 0. Hence \mathbb{T}_6 is not a right McCoy ring.

By the same notation in [8], $B_4(R)$ stands for the ring

$$B_4(R) = \left\{ \begin{pmatrix} a_1 & a & b & c \\ 0 & a_1 & d & r \\ 0 & 0 & a_1 & s \\ 0 & 0 & 0 & a_1 \end{pmatrix} : a_1, a, b, c, d, r, s \in R \right\}.$$

Theorem 2.5 Let R be a ring. Then R is a right McCoy ring if and only if $B_4(R)$ is a right McCoy ring.

Proof Assume that $B_4(R)$ is a right McCoy ring. Let $0 \neq f(x) = \sum_{i=0}^k a_i x^i$ and $0 \neq g(x) = \sum_{j=0}^t b_j x^j$ be two elements over R[x] with f(x)g(x) = 0. Let $E_{i,j}$ be the usual matrix units (with 1 in the (i, j)-coordinate and zero elsewhere). Then $\left(\sum_{i=0}^k E_{i,j} x^i\right) \left(\sum_{j=0}^t E_{i,j} x^j\right) = 0$. Since $B_4(R)$ is a right Mccoy ring, there exists an element $0 \neq c \in B_4(R)$ such that $\left(\sum_{i=0}^k E_{i,j} x^i\right) c = 0$. This also implies that there exists an element $0 \neq r \in R$ such that f(x)r = 0.

For the converse, the proof is similar to the proof of Theorem 2.1.

Example 2.6 In Theorem 2.5, we proved that if R is a right McCoy ring, then $B_4(R)$ is a right McCoy ring but is not an Armendariz ring by [8, Example 1.1].

In [6, Theorem 16], Kim and Lee proved that a ring *R* is reduced if and only if the classical right quotient ring Q(R) of *R* is reduced. The following theorem generalizes [5, Theorem 12] for Armendariz rings and [7, Theorem 2.6] for reversible rings to McCoy rings.

Theorem 2.7 Suppose that the classical right quotient ring Q(R) of R exists. Then R is a right McCoy ring if and only if Q(R) is a right McCoy ring.

Proof It is enough to show that if *R* is a right McCoy ring, then Q(R) is a right McCoy ring. Let $0 \neq f(x) = \sum_{i=0}^{k} a_i x^i$ and $0 \neq g(x) = \sum_{j=0}^{t} b_j x^j$ be two elements in Q(R)[x] with f(x)g(x) = 0. Then there exists $c_i, d_j, u, v \in R$ with u, v regular such that $a_i = c_i u^{-1}$ and $b_i = d_i v^{-1}$. Clearly $u^{-1}d_j \in Q(R)$ for each j, and so there exists $z_j, w \in R$ such that $u^{-1}d_j = z_j w^{-1}$. Let $f'(x) = \sum_{i=0}^{k} c_i x^i$ and $g'(x) = \sum_{j=0}^{t} z_j x^j$. It is easy to see that $0 \neq f'(x) \in R[x]$ and $0 \neq g'(x) \in R[x]$. Now from f(x)g(x) = 0, we have $f'(x)g'(x)(vw)^{-1} = 0$. Since *R* is a right McCoy ring, there exists $0 \neq c \in R$ such that $u^{-1}c' = cy^{-1}$. Now from $f(x)c' = f'(x)cy^{-1} = 0$, the classical quotient Q(R) is a right McCoy ring.

The following results are known:

- (1) *R* is an Armendariz ring if and only if R[x] is an Armendariz ring (see [1]).
- (2) Let $n \ge 2$. Then R is reduced if and only if $R[x]/(x^n)$ is an Armendariz ring (see [8]).

Theorem 2.8 Let R be a ring and $n \ge 2$ be a positive integer.

(1) *R* is a right McCoy ring if and only if R[x] is a right McCoy ring.

(2) If R is a right McCoy ring, then $R[x]/(x^n)$ is a right McCoy ring.

Proof (1) Assume that *R* is a right McCoy ring. Let $0 \neq f(Y) = a_0 + a_1Y + \dots + a_mY^m$ and $0 \neq g(Y) = b_0 + b_1Y + \dots + b_nY^n$ be two elements in R[x][Y] with f(Y)g(Y) = 0, where $a_i, b_j \in R[x]$. Let $t = \max(\deg(a_i)) + 1$. Clearly, $f(x^t) = a_0 + a_1x + \dots + a_mx^{mt}$ and $g(x^t) = b_0 + b_1x + \dots + b_nx^{nt}$. Note that the set of coefficients of the polynomial $f(x^t)$ is equal to the set of coefficients of f(Y). This implies that $f(x^t)g(x^t) = 0$. Since *R* is a right McCoy ring, there exists an element $0 \neq c \in R$ (also R[x]) such that $f(x^t)c = 0$ and so f(Y)c = 0.

The converse is clear.

(2) Let $y = \overline{x} \in R[x]/(x^n) = S$. Then $S[y] = R + Ry + \dots + Ry^{n-1}$ because $y^n = 0$. Let $0 \neq f = \sum_{i=1}^k f_i z^i$ and $g = \sum_{j=1}^t g_j z^j$ be two elements in R[y][z] with fg = 0, where $f_i = \sum_{u=0}^{n-1} a_u^i y^u$ and $g_j = \sum_{v=0}^{n-1} b_v^j y^v$. If we repeat the proof of (1), we have two cases on $\sum_{i=0}^k a_s^i y^i$. Now, it is easy to see that S is a right McCoy ring

Acknowledgment The author would like to thank the referee for many useful suggestions which helped to modify the presentation of this article. Special thanks to Editor Prof. Nantel Bergeron and to Prof. Abdullah Harmanci (Hacettepe University, Türkiye).

References

- D. D. Anderson and V. Camillo, Armendariz rings and Gaussian rings. Comm. Algebra 26(1998), no. 7, 2265–2272.
- M. Başer and M. T. Koşan, On quasi-Armendariz modules. Taiwanese J. Math. 12(2008), no. 3, 573–582.
- [3] P. M. Chon, Reversible rings. Bull. London Math. Soc. 31(1999), no. 6, 641–648.
- [4] Y. Hirano, On annihilator ideals of a polynomial ring over a noncommutative ring. J. Pure Appl. Algebra 168(2002), no. 1, 45–52.
- [5] C. Huh, Y. Lee, and A. Smoktunowicz, Armendariz rings and semicommutative rings. Comm. Algebra 30(2002), no. 2, 751–761.
- [6] N. K. Kim and Y. Lee, Armendariz rings and reduced rings. J. Algebra 223(2000), no. 2, 477–488.
- [7] _____, Extensions of reversible rings. J. Pure Appl. Algebra 185(2003), no. 1-3, 207–223.
- [8] T.-K. Lee and Y. Zhou, Armendariz rings and reduced rings. Comm. Algebra 32(2004), no. 6, 2287–2299.
- [9] N. H. McCoy, Remarks on divisors of zero. Amer. Math. Monthly 49(1942), 286–295.
- [10] P. P. Nielsen, Semicommutativity and the McCoy condition. J. Algebra 298(2006), no. 1, 134–141.

Department of Mathematics, Gebze Institute of Technology, Çayirova Campus 41400 Gebze-Kocaeli, Turkey e-mail: mtkosan@gyte.edu.tr